Ka SCOJ INDUSTRIADOCK MOUNT ASSEMBLY INSTRUCSI(

800 Deere Rd. Prescott, WI 54021715-262-4488 w sales@ascomarine.comw www.kascomarine.com

Industrial Dock Mount
Assemblyinstructions

° Watch our assembly animation kattps://kascomarine.com/products/accessories/deakounts
1


https://kascomarine.com/products/accessories/dock-mounts

Kasco INDUSTRIADOCK MOUNT ASSEMBLY INSTRUCSI(

Table of Contents

Tools and Parts List Pg 3
Dock Mount Assembly Instructions Pg 4
Configuration Instructions Pg B
Piling Mount Assembly Instructions Pg 16

Suggestedools and Supplies Needed

A~

{dZA3SaGSR DIFf @I yAl SR 2NJ {GFAytSaa { iS¢
Lag Screws or Bolts for Mounting to D@8k
3/4" Wrench or adjustable wrench
PKMCcQQ [/ 2Y0AYlFUGA2Y 2 NByYyOK
PkMcQQ {201S0G 2 NByYyOK
3/4" Socket Wrench
Note : Some steps may require the help ofamother person

=2 =4 =4 4 4 A

Note: Customer must provide the gahized or stainless steel pipeaximum of10 feet in length. The
dock mount kit has two variations, Industrial addiversal, which use different pipe sizes. Check the
LI O1 1 3Ay3 (2 RBuatoNNHdydSstridl Ritdmétisia Ak apf@eQuhile theUniversal
kity SSR & I.Sinc@dpplitdfiondSnay vary, the user will supply the appropriate lag sorebolts
to secureto the dock or pilingKascatrongly suggestthe dock mountbase be mounted as securely a
possible For Salt water use, Kasco suggests that ghioulduse tMmk H QQ a0 Ayt Sa a

2




ASSEMBLY INSTRUCSI(

INDUSTRIADOCK MOUNT

Kasco.

881¥-29C¢SLL

1B auLlep oose) ||ed asead ped Buissiw e Jo Juana ayl u|

390|g 1e[|0D

aseg JuUno 3o0Q

ole|d INiAS

S|pueH %207

dwe|n adig

dens ue)d

J1BYSBA X007 ,8/€

109 PEaH X3H .| X .8/€

INN 007 ,8/€

INN X8H .2/1

19YSEAA X207 .,.2/1

Hog PesH X8H .Z/L-| X .2/1

NINN[N| N[N~ [T |7 | N[ | N

1og PesH X8H .G X ,8/€

TN S|[OS0

Ao

uonduosag

dl NOd




Ka SCO® INDUSTRIADOCK MOUNT ASSEMBLY INSTRUCSI(

Assembly Instructions

Begin by assenting
the dry components
of the dock mount.

BOM ID | Description
1 Dock Mount Base

Step 1:Take the
- e R ;;gL-‘ -5 Dock Mount Base
& ®

@ @

& r and layit flat on the
o E | dockso the upright
© BT T [easi of the dock mount is

2.500

closest to the water.
Take a pencil or
marker and mark
the center of each
hole of the Dock
Mount Base. If you
are not able tgplace
the base easily on
the mounting
surfaceuse the hole
Dock Mount Base Upright placement drawing
to mark your holes
instead.

If you are mounting
to a piling or wall
see pa@ 16.




Kasco.

INDUSTRIADOCK MOUNT

ASSEMBLY INSTRUCSI(

Step 2:Drillthe
holes marked
previously. Make
surenot drill the
holes too large
otherwise the lag
screws or bolts will
not hold.Secure the
Dock Mount Bse
with eightuser
providedoy €
diameter lag screws
or bolts.

BOM ID

Description

Pipe Clamp - 997115

Lock Handle - 997170

Step 3:With the
basesecured to the
dock, gather the
pipe clamp, lock
handle and a user
suppliedl-m K H €
stainless pipe.




Kasco.

INDUSTRIADOCK MOUNT

ASSEMBLY INSTRUCSI(

J

\@

2N

Step4: Slide the
pipe clamp over the
pipe and tighten the
lock handle until the
pipe can no longer
move.

BOM ID

Description

<

Can Strap

Strut Plate

Collar Block

3/8" Lock Washer

3/8" x 1" Hex Head Bolt

3/8" x 5" Hex Head Bolt

3/8" Lock Nut

XN [([W|IN|—=

Unit

EN NI T I EY T ) o

Step 5:With the
pipe clamp assembl
finished gather the
remainingparts
along with your
deicer or circulator.




Ka SCOJ INDUSTRIADOCK MOUNT ASSEMBLY INSTRUCSI(

Step 6:Start by
putting the collar
blocks together so
the two halfmoons
are the same and
match the pipe

[‘j ] diameter. This

oy (///: f\\ ~ should be done on 3
~ :- t D C~ flat surface like a

[ N ] table orthe dock
S— S floor.

(N [

The larger siz¢half-
moonsare made to
match the IM K H €
pipe, while the
smallersized half
moonsare made to
YIFG§OK GKS

Step 7 Next install
the strut patesto
the outsides of the
collar blocks.

Temporarily hold
them together with
a clamp or your
hands.




Ka SCO® INDUSTRIADOCK MOUNT

ASSEMBLY INSTRUCSI(

—_—

—my

Step 8:To assemble
the unit mount se
the 5 hex head
boltsand two3/8¢
locknutsto loosely
tighten thecollar
blocks and strut
platestogether.

It is important to
leave theunit
mount assembly
loose as it is needeq
to flex slightly to fit
over the can strap
and to slide onto
the pipe.

Step 9:Slide he can
strap onto your
deicer or circulator

Leave approximately
1-1/2¢ T NRY
of the unitto the
top of the can strap
for best results.




Kasco.

INDUSTRIADOCK MOUNT

ASSEMBLY INSTRUCSI(

) \

N W

A~ ‘
AR \

Step 10iInsert and
tightena 3/8¢ x 1/2¢
HexHead Bolwith
GKS Geg2 o
g AaKSNJ |y
lock nut.

Useathk mc €
combination wrench
andd k msocket
wrench to tighten
the bolt until snug.

Make sure to
tighten the strap
down so it can no
longer slide on the
can.

Step 11inseat the
can strap with the
deiceror circultor
into the loosely
assembledinit
mount.

With the loosely
assembledunit
mount, slide it over
theo k y € nut 2 (
andhexheadbolt
on the can strap.




Kasco.

INDUSTRIADOCK MOUNT

ASSEMBLY INSTRUCSI(

Step 13 Slide the
end of the pipe into
the open end of the
unit mount. Tighten
R2oy (héS
head bolts and K y
lock nuts to the

pipe.

A9/16¢

combination wrench
andd k msocket
wrenchare needed
for this step.

Step 12:To anchor
the unt to the
mount take the
a4S02y R1X«k
hexheadbolt and a
0 K Yo&k nut and
inserttheminto one
of the three upper
holes.

I Kk MC E
combination wrench
' YR dKkmMmcE
wrench are needed
for this step.

10




